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I. Circle the correct answer in each of the following: (10 pts)

) The number of stereogenic centers in the molecule below is:
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boiling point?
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a. CHrOH + (CH3)2CHCHzOH * HzSO+, 140 
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F Which of the following reactions proceeds with inversion of configuration at the

carbon bearing thrc leaving,{ouP?

a) SNI c) El d) E2 e) All of them uY
II. Given the following alkyl halides:(4 points)
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3. The Compound that produces a p-aqgl!!4ttgl99rngrs when reacted with CH,OH' D /

4. Draw the structure of the maior product obtained when heating C with N,aOlI. Ak
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IV. The configuration of the indicated stereogenic center is:(2 points)

V. Label the following pairs of isomers as enantiomers, diastereomers'

conformational, constitutional or identical :(8 points)
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